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IMPORTANT NOTES:

1) Please make sure that you have written your student number and n ame above.

2) Check that the exam paper contains 4 problems.

3) Show all your work. No points will be given to correct answers without reasonable
work.



1) This question has two unrelated parts.

a)FoI: the pdints A(-6,3), B(3,-5), C(—1,5), verify that ABC is a right triansle and
find its area. €
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b) Let y = 22 — 8z + 15 g be given. List the intercepts and test the equation for

symmetry.
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2) This question has two unrelated parts.

a) Find the center and the radius of the circle given by the following equation.
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b) Find the slope of the line passing through (2, —1) and the midpoint of the points (3, 5)
and (=7.-1).
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3) This question hag two unrelated pargs,
a) Find an equation of

the line passing through (-1, ~3)
2y+3z-5=,

and parallel (o the line
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b) Find an equation of the line passing through (5,9) and perpendicular to the line
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4) This question has two unrelated parts.
a) Write an equation of the line passing through the points A(1, 2, —1) and B(2,3,1).
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b) Write an equatlon of the plane that contains the points P(2,0, l),' Q(1,1,1) and

R(1,0.,2). 2 o
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